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Question ID : 630680176670
Status : Answered
Chosen Option : A
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Question ID : 630680176665
Status : Answered
Chosen Option: B
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Question ID : 630680176671
Status : Answered
Chosen Option : A
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Question ID : 630680176676
Status : Answered
Chosen Option: C
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Question ID : 630680176677
Status : Answered
Chosen Option: C
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Question ID : 630680176667
Status : Answered
Chosen Option : A
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Ans X A. AHS! Y A1g Tl FeAdt

o B. BIIST Y 19 T et
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Question ID : 630680176672
Status : Answered
Chosen Option: B
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Question ID : 630680176674
Status : Answered
Chosen Option: D

Q.9 ‘deATd & forelt et it aredt fafY arerizr & forg g 2reg ghm-
Ans o A greslt

< B.usx

2 C. e

< D. uapreft

Question ID : 630680176679
Status : Answered
Chosen Option : A
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Question ID : 630680176675
Status : Answered
Chosen Option: C
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Question ID : 630680176673
Status : Answered
Chosen Option: B
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Question ID : 630680176669
Status : Answered
Chosen Option: D
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Question ID : 630680176682
Status : Answered
Chosen Option : D
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Question ID : 630680176666
Status : Answered
Chosen Option: D

Q.15 =1 & @ 3rquf 3d =1et T I&TER0T 8-
Ans o A fRicelt 8§ a9 auf gt %8t ot

< B. @ ST & o gedt g <t uRerdT sedt 81
< C. I 39 I Y e et |
25 D. =9 3 gehat R o7 fiRma g

Question ID : 630680176680
Status : Answered
Chosen Option : A
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Question ID : 630680176668
Status : Answered
Chosen Option: D
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Question ID : 630680176681
Status : Answered
Chosen Option : B
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Question ID : 630680176664
Status : Not Answered
Chosen Option : --
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Ans X A 3R
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25 D.wh

Question ID : 630680176663
Status : Not Answered
Chosen Option : --
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Ans
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Question ID : 630680176678
Status : Answered
Chosen Option: B

Comprehension:

f=ferfRd merier & enuR wR Y My usii & 3R &Sl

ek Aifecd 6 ag faur ¢ foreen uderor drig wR giar & ofk i g faty & se=fa ofk dwnred=
3nifefen erae & ameR W AT gidr &1 ST TTeTeRdT 8t ATeeh Sl Jel 7H g1 ATedh i {TNT §ehd
&Y T gt &1 1T & e v fohd STaTet 21sg a1 are gt grefer 7= S §, 519 9 ahifden, arfae,
e Ud Smgrd Sif¥=a ol IehdTd a1 URT hvd &1 g@d et & Ta-TeR guiraen, fTeten, gd
ifdTeHe {1 & SIRT & farsRrag i Uehe T &, fohg ATeeh & a1 & SIRT fawrraeg ot weaer afea
Bid g gt ST & | 7eagT & IR, 7 srordTe fgdl # off o & Arees uvofid gu fSieh 7at uepfa at
IR Gl 5, fohg HaTG-LAet H I ST oh SIRUT 6 ATceh ol T & & Tt & | AT AgHTee (MT0TEs
HEH), HIUMTHROT (ATBH), e (FaTeT) SMfE TY &1 ATeeh &1 HedehTel § dAleheiHT ATea UToRIy IR
IR H 3Heh AT &UI H AT @1 &1 STR 9RA # I’ 3fR HIeehr, AerRd $iR JoIH # ‘&1,

TSR § ‘9ars, fgr 7 ‘hifrar sk ‘sifear, faor & ‘agrmd €9 did ATed IRur sRreR sfifad 6t
&1 9RAg & IR g Aees A 1 e T &€ o1 Tdvem Hifores Ared ‘Agy'sd foar Murea
(FReR &) gRT A, 1859 8. # foram 72T 7| 74T ATeeh SIS & &1& HOH1 ch ShAsT: ge § I faasrr
SR fAR1R1 T WAGHT T ATeeh &1 T8 Ieeia1d ¢ foh T, 1954-55 o are 9= fRIfed Same siiaRe
foere U g ol SIgd oAt ST | AIa-A B e areft snemd ¢ &, witg «fv1 i fRfey e g1 ==l o
ST, TSiT, e, T3, RIS G STeient = S+ foraT| STTSTIET & a1e 3 ATeeh] ol H%d ©R I8 &

SubQuestion No : 21
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Question ID : 630680176684
Status : Answered
Chosen Option : A




Q.22

Ans

Comprehension:

fa=forfad merisr & enuR W 3T My usi & 3R §fS|

d1eeh Aifged i a8 e g foreent uieror e R gidT & SR TTHT g fasiy i Sevf $iR dehret=
3ifefep eree & SmUR W fAfHT g1 &1 TG TR B ATeeh Sl Jdl A7 g1 AT i {TNT §3ehd
T oo gieft &1 sifIr & forg v fond STRaet <1 a1 atery @it Arefen AR 9 &, 519 & hifdiek, anfies,
Ifden Td SMET ST ol IhwTd a1 URA Ted &1 go<t faesit # TR gui-Teres, =T, T
FffdTees 91T & SIRT 8 fasrag ol Uehe v &, fohg ATee # sifema & SRy fawereg ot veaer afea
B §T g ST & | ey & IR § sroree fgdl 7 off o U9 Aree uvofia gu e gat epfa at
FHIAIR &l 8, fohg Hare-eht & T ST F HRUT 3¢ AA1eh ! G1 ¢ & TR § | IHIT g (A0S
FEH), HIUTHROT (ATBTH), Ahae (FaTeT) SMfE TY & ATeeh & | Aedehtel § dleheiHT e Ry §¥
IR H 3 A w01 § AT Y €1 SR URA B I’ 3R HIEehY, AeRd iR ISy # ‘1T,
ToRId § '9arg, [OgR # ‘ddfAarsiik siferar, <feror § aerm'dh &0 § didh ATed UuRT sRIeR Shifad 6l
g1 ¥RAg & SR A5 rees AT o e Tae f6dl ot Tauem Hifcres ATee ‘g 's=dh fUar Murerds
(FreR ) gRT 991859 €. & forar mar U117 ATeeh ST & §1g WU oh ShART: e @ 3 fasrar
3fR FART=IT AT TAGAT T ATeeh &1 T8 Ieoha-1a & foh T 1954-55 & a1e G fAIfed S=ams siialka
foreresT Q& e ot ST e T | ATHE-HA H Ters arelt SR gél, Aig o ol R der g3 1 i i A
ST, ISHT, e, T319, ARG Qe Sf1eient & S+ foram| STTSTIET 3 a1e 3 ATeeh ol Hed ©R Ja &

SubQuestion No : 22
‘T ATEehI’ T JEI TR T8 8-

< A HTd H § U areit SRSt i e & meeiH|
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Question ID : 630680176687
Status : Answered
Chosen Option : B

Comprehension:

fAfafaa merisr & smeR W U 17 usi & IR &Sl

ek Aifecd i ag faer & forrer udteror g tR giar & ofk i g Aty &t swfar ofR dnredi=
31fefen e o SR W AfHT g1 &1 FTHUT TATHRAT 61 ATeeh Sl Jol A7H g1 ATech hl {TNT §3ehd
Y e gieft &1 sifaa & forg i fohd STHaTet ereg ot arery it arefes am STa &, ST 3 ik, arfars,
Ifden Qd SMERI SITHY ol IehdTd AT URA hed &1 gu [aersii # TR auiHTeHeh, =T, T
FfidTcHe {1 & SIRT & fasraeg ol Uehe v §, fohg ATeeh # sife=a & SIRY faweresg ot ueaer afea
BYa gu g STrar &1 Hezrg & Iwereg, | srorreT B 7 oft 5w 8 rees wofla gy e got upfa @t
PR &1 8, fohg TaTe-elt H T2 ST & RUT 3% ATedh i G717 & & Mft &1 TH1I0T AT (WToTds
M), HIUTHROT (ATBH), e (FaTe1) SMfE TY &1 ATeeh & | Hedehtel § AlcheiHT e ORIy I¥
AR H 3k 79 w01 § T @ &1 SR YR 3 T 3R ‘HehY, FeayRd 3R IoTI= § e,
ToRId # '9aTg, [OgR # ‘RIdarsiiR ‘sifehar, <fero # aerm'dh &0 # didh A1ed UuRT SRIeR Shifad 6l
g1 RAg & SR fAgrg Trees AT o e TEe fedl ot wauem Hifcres ATee ‘g sdh fUar Murerds
(Frer arer) gRT 991859 §. & forar mar uT| 7 ATeeh ST & 1E WU o shART: e § 3 fyasrar
3fR FART=IT T g1 T A1eeh &1 T8 Ieeia-1d & foh T, 1954-55 o a1e T IS S=Hm SiidaRkas
forerest Qe e a1 S e o T | AHE-HA | gers arel SRy gél, Alg o ol R dar g8 1 i i A
ST, ISt e, T, FR1mE gd smeient = ST foram | SiTeTTdl & aTe & ATehl ot e R Fgl B

SubQuestion No : 23
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Question ID : 630680176688
Status : Not Answered
Chosen Option : --




Comprehension:

f=forfRd merier & ey W 3T My usi & 3R S|

q1eeh Aifged i g faem g foreent uieror e R gidT & SR TTHT g fasiy i Seef $iR dchret=
31fefen eree o SR W fAfHd g1 &1 T TATHRAT B ATeeh Sl To A g1 AT i {TT §3ehd
Y e gieft &1 sifSr & forg v fond STRaet <1eg &t atery @it Arefen AR S €, 519 @ hifdiek, anfies,
Ifcden Td SMERl SIfHg ol IehwTd a1 IR Ted &1 go<t [aersit # TR aui-Tee, =T, Td
ffareRes 91T & SIRT 8 fasrag ol Uehe v &, fohg e # sifema & SRy fawreg ot veaer afea
Bid §T g ST & | ey & IR, # sroree fgdl 7 off o U9 Aree wofia gu e gat epfa at
PR g1 8, fohg TaTe-elt 7 T2 ST & HRUT 32 AATedh hl G771 & & Tt &1 101 AT (WToTds
M), HIUTHROT (ATBH), Ahde (FaTeT) SMfE TY & ATeeh & | Aedehtel § dleheiHT e UTRIy I¥
IR H 3 A w01 § T @Y €1 SR URA B I’ 3R HIEehY, AeRd iR ISy # ‘1T,
ToRId § '9arg, [OgR # ‘ddfAarsiik siferar, <feror § aerm'dh &0 # didh Ted UuRT sRIeR Shifad w6l
g1 ¥RAg & SR fAgLg rees I o1 e T fedl a1 TaueH Hifcres ATed gy 'Sk fUar Murerds
(FreR &) gRT 991859 . & forar mar U117 ATeeh ST & §1g YU oh shART: e @ 3 fasrar
3fR FART=IT T TAGAT T ATeeh &1 T8 Ieoa-1d & foh T 1954-55 & a1e I fAIferd S=ams siialkas
foreresT Q& e ot ST e T | ATHE-HA | Ters arelt SR gél, Aig o ol R der g8 1 i i A
ST, ISHT, e, T34, RIS Qe Sf1Rient & S+ foram| STTSTIET & aTe & ATeeh] ol Hed ©R Jg g

SubQuestion No : 24
Q.24 ‘3mgrd AT’ a1 31 &-
Ans X A ATeeh § GaTel ol gex & O et
& B. FITcah | hael du-uT & Fdl WR 3=
5 C. A1eeh ® SiT-TaTe gRT S
25 D. Acah & 9rauaur Ssifeg

Question ID : 630680176686
Status : Answered
Chosen Option : D

Comprehension:

ffafaa merisr & smeR R U T usi & IR &Sl

ek e Y ag faer & foreren udteror dria tR giar & ofk i g Aty &t swfa ofk dwnrefi=
3n1fefer e o STYR W AfHT gidT &1 FTHUT TATHSAT B ATeeh Sl Jol AH g1 ATech hl {THT §3ehd
Y ro gieft &1 sif a3 forg i fohd STHaTet 2reg ot arerr it arefes 9 ST &, ST 3 ik, arfas,
AIfcden Qd SMERI SIfHY ol IehdTd AT URT hed &1 gut [Aersii # TR JuiHTcHeh, =T, Td
ifidTcHe {1 & SIRT & fasraeg @l Uehe v &, fohg ATeeh # sife=a & SIRY fawereg ot neaer afea
BYa gu R STrar &1 Hezrg & Iuereg, | srorreT B 7 oft 5w 8 rees wofla gy S got upfa @t
PR &1 &, fohg Tare-elt 7 T2 ST & HRUT 3% ATedh i G717 & & Mt &1 TH1I01 AgTHTeeh (MToTds
M), HIUTHROT (ATBTH), e (FaTe1) SMfE TY 81 ATeeh & | HedehTel § dlcheiHT e ORIy IY
IRA B 3 AT U § T W6l & | SR YR & I’ 3R ‘FidehY, AegoTRa 3R IsTI= § ‘wret,
ToRTd # '9aTg, [OgR # ‘dIdarsiiR ‘sifehar, <feror # aerm'dh &0 # didh A1ed URT SRIeR Shifad 6l
g1 RAg & IR fA3Lg Trees AT o e TEe fedl ot Tauem Hifcres ATed ‘g 's=dh U Murerds
(Frer are) gRT 991859 . & forar mar U117 ATeeh ST & 918 YU o shART: e § 34 fasrar
3fRR FART=IT T TaGAT T A1eeh &1 T8 Ieeha-1d & foh T, 1954-55 o a1e T IAIfSd SHHmY SiidaRka
forerest Qe ot S e o T | AHE-HA H gers arelt SRy gél, Aig o ol R dar g8 1 = i A
ST, ToiT, ged, T, RIS gd smeient A ST foram | SiTeTTel & aTe & ATehl o e R Tl B

SubQuestion No : 25
Q.25 7 & @ udr 3R IR ATea wFHRIS I FHH-91 I Ao 8-
Ans X A IWR IRA - AEH
7< B. ORI — 7arg
75 C. faror - ggrme
o D. TR — SifeRar

Question ID : 630680176685
Status : Not Answered
Chosen Option : --




Section : English Language

Q.1 Select the grammatically correct sentence.
Ans X A.lt has all discovered by accident, as an unexpected side effect of her research.

" B. It was all discovered by accident, as an unexpected side effect of her research.
25 C. It was all discover by accident, as an unexpected side effect of her research.

< D. It was all discovering by accident, as an unexpected side effect of her research.

Question ID : 630680176702
Status : Not Answered
Chosen Option : --

Q.2 Select the most appropriate option that can substitute the underlined segment in the given
sentence and complete the given proverb. If there is no need to substitute it, select ‘No
substitution required’.

The ball is in your house

Ans X A. No substitution required
#< B. his pocket
¥ C. your court

25 D.my bag

Question ID : 630680176692
Status : Not Answered
Chosen Option : --

Q.3 Parts of a sentence are given below in jumbled order. Arrange the parts in the correct order
to form a meaningful sentence.
A. are witnessing a surge in patients
B. with respiratory problems
C. with the cold wave prevailing over North India,
D. government hospitals in Uttar Pradesh's Lucknow

Ans X A CBDA
7< B.DCBA
& C.CDAB
2 D. ADBC

Question ID : 630680176693
Status : Not Answered
Chosen Option : --

Q.4 Select the most appropriate option to fill in the blank.
The Darjeeling Himalayan Railways (DHR) was inscribed on
Sites in 1999.

Ans o Al the

list of World Heritage

< B. No word required

X C.a
25 D.an

Question ID : 630680176704
Status : Not Answered
Chosen Option : --




Q.5 Select the most appropriate synonym of the given word.
Revel

Ans X A.Plead
< B. Opress
< C. Dislike
4" D. Rejoice

Question ID : 630680176690
Status : Not Answered
Chosen Option : --

Q.6 Select the most appropriate option to fill in the blanks.
The President of the Republic of Guyana has ____ 200 acres of land in his country
exclusive cultivation and production of millets to the private sector in honour of the United
Nations declaring the year 2023 as the International Year of Millet (IYOM).

Ans  # A offered, for

25 B. suggested, about
< C. created, to
#< D. attempted, in

Question ID : 630680176696
Status : Not Answered
Chosen Option : --

Q.7 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don't find any error,
mark ‘No error’ as your answer.

The Army day parade is conducted every year in Delhi, / however, this year, the parade / will
hold in Karnataka's Bengaluru.

Ans X A. however, this year, the parade
< B. No error
" C. will hold in Karnataka's Bengaluru

< D. The Army day parade is conducted every year in Delhi

Question ID : 630680176707
Status : Not Answered
Chosen Option : --

Q.8 Select the option that can be used as a one-word substitute for the given group of words.
An introductory statement

Ans  # A Preamble
#5 B. Precinct
25 C. Precis
< D. Premise

Question ID : 630680176700
Status : Not Answered
Chosen Option : --




Q.9 The following sentence has been divided into parts. One of them may contain a spelling
error. Select the part that contains the error from the given options. If you don't find any
error, mark ‘No error’ as your answer.

In 2008, Tata anounnced / they were pulling their car / manufacturing investment out of
West Bengal.

Ans X A.No error
" B.In 2008, Tata anounnced
25 C. they were pulling their car

#< D. manufacturing investment out of West Bengal

Question ID : 630680176708
Status : Not Answered
Chosen Option : --

Q.10 Select the option that can be used as a one-word substitute for the given group of words.
A doctor specialising in the diagnosis and treatment of skin disorders

Ans X A Haematologist
75 B. Cadiologist
< C. Nephrologist

«# D. Dermatologist

Question ID : 630680176699
Status : Not Answered
Chosen Option : --

Q.11 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don't find any error,
mark ‘No error’ as your answer.

No sooner did we heard the announcement / than we rushed towards / the departure gate.

Ans X A.than we rushed towards
«" B. No sooner did we heard the announcement
25 C.No error
2 D. the departure gate

Question ID : 630680176706
Status : Not Answered
Chosen Option : --

Q.12 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
correct order to form a meaningful and coherent paragraph.
A. His sheep had been attacked by wolves, which had eaten two of them.
B. Aufschnaiter, losing patience, marched out one afternoon with his loaded sheep and
pitched his camp a few miles away from Tradun.
C. We helped him to carry his things there and intended to visit him the next day.
D. But the next day, to our surprise, Aufschnaiter came back to us with his baggage.

Ans X A.BDCA
« B.BCDA
7< C.DCBA
7 D. ABDC

Question ID : 630680176694
Status : Not Answered
Chosen Option : --




Q.13 Select the option that can be used as a one-word substitute for the given group of words.
A thing that motivates or encourages someone to do something

Ans X A.Inheritance
25 B. Invention
" C. Incentive

25 D. Instrument

Question ID : 630680176701
Status : Not Answered
Chosen Option : --

Q.14 Select the most appropriate ANTONYM of the given word.
Refined

Ans  # A Rough
#< B. Polished
#< C. Delicate
< D. Elegant

Question ID : 630680176689
Status : Not Answered
Chosen Option : --

Q.15 Select the most appropriate option to fill in the blanks.
The police superintendent walked across the market square ____ a new overcoat and
carrying a parcel under his arm. A red-haired policeman strode _____ him with a basket full
of confiscated strawbberries in his hands.

Ans X A. wore, about
< B. wear, for
" C. wearing, after
2 D. wears, with

Question ID : 630680176695
Status : Not Answered
Chosen Option : --

Q.16 Select the most appropriate option to fill in the blanks.
We are well aware of the mountain in the world, the mighty Mount Everest, submitted
by several mountaineers now! But, how many of us are ____ of the tallest ‘unclimbed’
mountain in the world? Yes, we are talking Bhutan's Gangkhar Puensum, also known
as ‘White Peak of the Three Spiritual Brothers’.

Ans X A.most tall, attentive, around

#5 B. taller, alert, across
o« C. tallest, aware, about

< D. tall, awake, along

Question ID : 630680176697
Status : Not Answered
Chosen Option : --




Q.17 Select the most appropriate option to fill in the blanks.
A child was standing on a street-corner. He leaned with one shoulder a high board-
fence and swayed the other to and fro, while kicking at the gravel. Sunshine beat
upon the cobbles, and a lazy summer wind ____ yellow dust which trailed in clouds down the
avenue.

Ans X A. along, readily, jumped

" B. against, carelessly, raised
25 C. about, badly, suggested
#< D. across, probably, boosted

Question ID : 630680176698
Status : Not Answered
Chosen Option : --

Q.18 Select the most appropriate option that can substitute the underlined segment in the given
sentence and complete the given proverb. If there is no need to substitute it, select ‘No
substitution required’.

A small child makes much noise.

Ans X A.Anangry man
#< B. No substitution required
" C. An empty vessel
25 D. A loud radio

Question ID : 630680176691
Status : Not Answered
Chosen Option : --

_—
Q.19 Select the most appropriate option to fill in the blank.
Recently, the Ministry of Railways has tweeted video in which it shows how a
passenger train is traversing through the snow covered Baramulla-Banihal stretch of
Jammu and Kashmir.

Ans X A.the

25 B. No word required

5 C.an
o D.a

Question ID : 630680176705
Status : Not Answered
Chosen Option : --

Q.20 Select the grammatically correct sentence.
Ans  # A He made a sound that was somewhere between a laugh and a cry.

#< B. He made a sound that was somewhere across a laugh and a cry.
5 C. He made a sound that was somewhere among a laugh and a cry.

< D. He made a sound that was somewhere through a laugh and a cry.

Question ID : 630680176703
Status : Not Answered
Chosen Option : --




Comprehension:
Read the given passage and answer the questions that follow.

Prime Minister Narendra Modi flagged off the Ganga river cruise from Varanasi on Friday, 13
January 2022. The 51-day cruise, being pitched as the world’s longest river cruise, is expected
to reach its final destination — Dibrugarh in Assam — on 1 March.

“The beginning of the world's longest river cruise service on river Ganga is a landmark
moment. It will herald a new age of tourism in India,” the Prime Minister said while flagging off
the cruise virtually via video conference. He added that the cruise service will boost tourism
and create new job opportunities.

Set to sail from Varanasi, the cruise ship, MV Ganga Vilas, will cover 3,200 km over 51 days,
crossing 27 river systems and several states before ending its journey at Dibrugarh. The
voyage is packed with visits to 50 tourist spots, including World Heritage spots, national
parks, river ghats, and major cities like Patna in Bihar, Sahibganj in Jharkhand, Kolkata in West
Bengal, Dhaka in Bangladesh and Guwahati in Assam.

It will make pit-stops to cover the famous Ganga Arti in Varanasi, the Buddhist site of Sarnath;
and even Majuli, the largest river island in Assam. The travellers will also visit the Bihar School
Of Yoga and Vikramshila University. The cruise will traverse through the Sunderbans in the
Bay of Bengal delta, as well as the Kaziranga National Park.

The vessel has three decks, 18 suites on board with a capacity of 36 tourists, with all the
luxury amenities. The maiden voyage has 32 tourists from Switzerland signing up for the
entire length of the journey.

While it will be managed by private operators, the Inland Waterways Authority of India (IWAI),
under the Ministry of Shipping, Ports and Waterways (MoPSW), has supported the project.
The operator has already planned MV Ganga Vilas’s next voyage for the month of September
this year, and bookings will open shortly. The tickets can be booked from the website of
Antara river cruises.

SubQuestion No : 21
Q.21 After reading the passage it can be inferred that it is:

Ans & A anews article
75 B. an advertisement for the river cruise
725 C. aprogramme schedule of the cruise

< D. a Government press release

Question ID : 630680176710
Status : Not Answered
Chosen Option : --




Comprehension:
Read the given passage and answer the questions that follow.

Prime Minister Narendra Modi flagged off the Ganga river cruise from Varanasi on Friday, 13
January 2022. The 51-day cruise, being pitched as the world’s longest river cruise, is expected
to reach its final destination — Dibrugarh in Assam — on 1 March.

“The beginning of the world's longest river cruise service on river Ganga is a landmark
moment. It will herald a new age of tourism in India,” the Prime Minister said while flagging off
the cruise virtually via video conference. He added that the cruise service will boost tourism
and create new job opportunities.

Set to sail from Varanasi, the cruise ship, MV Ganga Vilas, will cover 3,200 km over 51 days,
crossing 27 river systems and several states before ending its journey at Dibrugarh. The
voyage is packed with visits to 50 tourist spots, including World Heritage spots, national
parks, river ghats, and major cities like Patna in Bihar, Sahibganj in Jharkhand, Kolkata in West
Bengal, Dhaka in Bangladesh and Guwahati in Assam.

It will make pit-stops to cover the famous Ganga Arti in Varanasi, the Buddhist site of Sarnath;
and even Maijuli, the largest river island in Assam. The travellers will also visit the Bihar School
Of Yoga and Vikramshila University. The cruise will traverse through the Sunderbans in the
Bay of Bengal delta, as well as the Kaziranga National Park.

The vessel has three decks, 18 suites on board with a capacity of 36 tourists, with all the
luxury amenities. The maiden voyage has 32 tourists from Switzerland signing up for the
entire length of the journey.

While it will be managed by private operators, the Inland Waterways Authority of India (IWAI),
under the Ministry of Shipping, Ports and Waterways (MoPSW), has supported the project.
The operator has already planned MV Ganga Vilas’s next voyage for the month of September
this year, and bookings will open shortly. The tickets can be booked from the website of
Antara river cruises.

SubQuestion No : 22
Q.22 What is the passage mainly about?
Ans X A. The sights to be seen during the river cruise

< B. The cruise ship called Ganga Vilas
«# C. The starting of the Ganga River Cruise

< D. The river tourism in India

Question ID : 630680176711
Status : Not Answered
Chosen Option : --




Comprehension:
Read the given passage and answer the questions that follow.

Prime Minister Narendra Modi flagged off the Ganga river cruise from Varanasi on Friday, 13
January 2022. The 51-day cruise, being pitched as the world’s longest river cruise, is expected
to reach its final destination — Dibrugarh in Assam — on 1 March.

“The beginning of the world’s longest river cruise service on river Ganga is a landmark
moment. It will herald a new age of tourism in India,” the Prime Minister said while flagging off
the cruise virtually via video conference. He added that the cruise service will boost tourism
and create new job opportunities.

Set to sail from Varanasi, the cruise ship, MV Ganga Vilas, will cover 3,200 km over 51 days,
crossing 27 river systems and several states before ending its journey at Dibrugarh. The
voyage is packed with visits to 50 tourist spots, including World Heritage spots, national
parks, river ghats, and major cities like Patna in Bihar, Sahibganj in Jharkhand, Kolkata in West
Bengal, Dhaka in Bangladesh and Guwahati in Assam.

It will make pit-stops to cover the famous Ganga Arti in Varanasi, the Buddhist site of Sarnath;
and even Majuli, the largest river island in Assam. The travellers will also visit the Bihar School
Of Yoga and Vikramshila University. The cruise will traverse through the Sunderbans in the
Bay of Bengal delta, as well as the Kaziranga National Park.

The vessel has three decks, 18 suites on board with a capacity of 36 tourists, with all the
luxury amenities. The maiden voyage has 32 tourists from Switzerland signing up for the
entire length of the journey.

While it will be managed by private operators, the Inland Waterways Authority of India (IWAI),
under the Ministry of Shipping, Ports and Waterways (MoPSW), has supported the project.
The operator has already planned MV Ganga Vilas’s next voyage for the month of September
this year, and bookings will open shortly. The tickets can be booked from the website of
Antara river cruises.

SubQuestion No : 23
Q.23 The word ‘traverse’ in the passage means all of the following EXCEPT:
Ans X A travel over

< B. cut across
«” C. stay over
< D. pass through

Question ID : 630680176713
Status : Not Answered
Chosen Option : --




Comprehension:
Read the given passage and answer the questions that follow.

Prime Minister Narendra Modi flagged off the Ganga river cruise from Varanasi on Friday, 13
January 2022. The 51-day cruise, being pitched as the world’s longest river cruise, is expected
to reach its final destination — Dibrugarh in Assam — on 1 March.

“The beginning of the world's longest river cruise service on river Ganga is a landmark
moment. It will herald a new age of tourism in India,” the Prime Minister said while flagging off
the cruise virtually via video conference. He added that the cruise service will boost tourism
and create new job opportunities.

Set to sail from Varanasi, the cruise ship, MV Ganga Vilas, will cover 3,200 km over 51 days,
crossing 27 river systems and several states before ending its journey at Dibrugarh. The
voyage is packed with visits to 50 tourist spots, including World Heritage spots, national
parks, river ghats, and major cities like Patna in Bihar, Sahibganj in Jharkhand, Kolkata in West
Bengal, Dhaka in Bangladesh and Guwahati in Assam.

It will make pit-stops to cover the famous Ganga Arti in Varanasi, the Buddhist site of Sarnath;
and even Maijuli, the largest river island in Assam. The travellers will also visit the Bihar School
Of Yoga and Vikramshila University. The cruise will traverse through the Sunderbans in the
Bay of Bengal delta, as well as the Kaziranga National Park.

The vessel has three decks, 18 suites on board with a capacity of 36 tourists, with all the
luxury amenities. The maiden voyage has 32 tourists from Switzerland signing up for the
entire length of the journey.

While it will be managed by private operators, the Inland Waterways Authority of India (IWAI),
under the Ministry of Shipping, Ports and Waterways (MoPSW), has supported the project.
The operator has already planned MV Ganga Vilas’s next voyage for the month of September
this year, and bookings will open shortly. The tickets can be booked from the website of
Antara river cruises.

SubQuestion No : 24

924 Match the following.

Ans

Name of the place | Its special feature

a. Sarnath 1. Ganga Aarti

b. Majuli 2. Buddhist site

c. Varanasi 3. Largest river island in Assam

& A a-1,b-3,¢c-2
5 B.a2,b-1,¢-3
" C.a-2,b-3,c1
< D.a3,b-1,¢c2

Question ID : 630680176712

Status : Not Answered

Chosen Option : --




Comprehension:
Read the given passage and answer the questions that follow.

Prime Minister Narendra Modi flagged off the Ganga river cruise from Varanasi on Friday, 13
January 2022. The 51-day cruise, being pitched as the world’s longest river cruise, is expected
to reach its final destination — Dibrugarh in Assam — on 1 March.

“The beginning of the world’s longest river cruise service on river Ganga is a landmark
moment. It will herald a new age of tourism in India,” the Prime Minister said while flagging off
the cruise virtually via video conference. He added that the cruise service will boost tourism
and create new job opportunities.

Set to sail from Varanasi, the cruise ship, MV Ganga Vilas, will cover 3,200 km over 51 days,
crossing 27 river systems and several states before ending its journey at Dibrugarh. The
voyage is packed with visits to 50 tourist spots, including World Heritage spots, national
parks, river ghats, and major cities like Patna in Bihar, Sahibganj in Jharkhand, Kolkata in West
Bengal, Dhaka in Bangladesh and Guwahati in Assam.

It will make pit-stops to cover the famous Ganga Arti in Varanasi, the Buddhist site of Sarnath;
and even Majuli, the largest river island in Assam. The travellers will also visit the Bihar School
Of Yoga and Vikramshila University. The cruise will traverse through the Sunderbans in the
Bay of Bengal delta, as well as the Kaziranga National Park.

The vessel has three decks, 18 suites on board with a capacity of 36 tourists, with all the
luxury amenities. The maiden voyage has 32 tourists from Switzerland signing up for the
entire length of the journey.

While it will be managed by private operators, the Inland Waterways Authority of India (IWAI),
under the Ministry of Shipping, Ports and Waterways (MoPSW), has supported the project.
The operator has already planned MV Ganga Vilas’s next voyage for the month of September
this year, and bookings will open shortly. The tickets can be booked from the website of
Antara river cruises.

SubQuestion No : 25
Q.25 Which agency is directly operating the Ganga River Cruise?
Ans  &* A. The Antara River Cruises

75 B. The Ministry of Tourism, Govt. of India
75 C. The Inland Waterways Authority of India

< D. The Ministry of Shipping, Ports and Waterways

Question ID : 630680176714
Status : Not Answered
Chosen Option : --

Q.1 9Rd & faf = woul & @fRs & ar d fA=faf@a § @ w9 @ s 9t &2
. aferTg 7 2020-21 & SR A4T8E (Magnesite) & el IaTE | 60.9% T ARTET faar um|
1. TSTRIT A 2020-21 & R WIERRISE (phosphorite) & &e SaaTe=T # 93.27% Al AT
R am
1. T[SRI 3271 & et IUTEH A 34.3% ANTET o 1Y AT 319%k (manganese ore) T Tad
ST IeTEH FAT g3 81

Ans X A LIS
o B.dad | 3R Il
< C.&aa | sl
2< D. &at Il 3R 11l

Question ID : 630680176735
Status : Not Answered
Chosen Option : --




Q.2 fA=fafEa d @ @9 Wt wrdra @« mfdezor {Sports Authority of India (SAI)} ZRT wraffRea
QT UieaTg=T gisT (Sports Promotional Scheme) =gl &2
Ans X A TE/esa/as @ st al sl g - el 3f3ar aiern (Khelo India Scheme) & U
HRISS & Igd, Wl SThIGIHT i Welt 3f3aT Yrefiel (Khelo India athletes) & ufRietor & forg Amgar &
STt 81
< B. ufae &t ugar ohe o oy Wk oY, IR, U, ufe, afevor ofk SwR-gd el S ui &t |
e AT gl
o C. 14918 a4 & oy ol & 22 Wt fAeafi & ufqen i uga K st 8, oo 321 & o
SARTENY TR IR IecpEell YTl & chl &THAT IT AT B
#< D. Tt Efean At & 'afaeT @ist 8RR fderr’ (‘Talent Search and Development’) &rfer &
agd, RafRa fary ok gafaa vuetel st ufa avf ufa gerefie 26.28 @rg 6t a1ffies foxfia Tgrrar uem
& ST g1

Question ID : 630680176722
Status : Not Answered
Chosen Option : --

Q.3 2Mg el @i (Shah Quli Khan) T AehsRT gl {4 & 2
Ans o A gRamom

X B. U

X C.IWRueN

< D. e

Question ID : 630680176726
Status : Not Answered
Chosen Option : --

Q.4 sifaew T (Oxam India) Ig RTAT A & g o @war @ s enfRenfRia, sfeet, gt
3 afgemai ofiz ssferat & Ut erg 74 Y a1a shg=t Y TesaT & T GRiAE, féan g=h sfta=
gl, o1+ TR et AEGH et & TH HaeR 3R AgwTa J+h Wiasy gl sifeas $faar (Oxam
India) <t HEATeTa et R 82

Ans X A YR
o B. 78 feeedt
< C. idahram
< D.geAn

Question ID : 630680176717
Status : Answered
Chosen Option: B

Q.5 g I A 2022 F wRe situe wre thes ufatfaT (Indian Open Javelin Throw Competition)
| Y & IR ST UTEAT theh TR Teh IehTS T

Ans o A.63.82m
2 B.65.25m
7< C.89.94m
/< D.72.86 m

Question ID : 630680176721
Status : Answered
Chosen Option : A




Q.6 UHHE (Panjnad) Usira <t uie Afeat ot e mar ArT g1 39 € Y ugam R Wit 399 D Tk gl
gl

Ans X A =g
& B.dqan
X C.3em
< D. e

Question ID : 630680176734
Status : Answered
Chosen Option: B

Q.7 hieTehrar A} Q4T (Kolkata Metro Service) & IR # g 7TQ S # @ hi-a1/@ 9l /87
1. 1972 -29 feR @} A YeTa picTeptar Fi smeRfAar w&h 7F ot
1. 1984 - 24 31ageR @t A I, hicTehTdl, WIRA F ugelt ALt = it 1 ot
l1l. 2013 - 29 &R = ALt I ! S I 1 gt fam mam Gm

Ans o A dhad | iR I

< B.&had |

< C.Faetll s Il

2 D. &ae Il

Question ID : 630680176737
Status : Not Answered
Chosen Option : --
Q.8 Sig-wdift (Bioluminescence) (WehiT ISA Fe & g e sfifdasfig ko) #
welt-wifa R 21

Ans o A ShihdeR/EMIBR (ctenophores)
2 B. Gf3ure (arthropods)
25 C. ISt (sponges)
2 D. ererff/genrgaed (echinoderms)

Question ID : 630680176738
Status : Not Answered
Chosen Option : --

Q.9 2024 a, fA=faf@da d @ frg T59 IReR gR1 Tarfera e & v ‘s Ta=R g’
(‘Science Innovation Hub') g, S fenffat & sfra dmfes dwpfa ok @yma ol sgar 3
& foIg geh aRTeR 9k g dugrera Afga @t sy ofi Fdfiqaw gfaumg gifi?
Ans X A gRETE
X B. 378
X C. e
o D. Rt

Question ID : 630680176715
Status : Answered
Chosen Option: C




Q.10 F=fafaea usil & IR & gl de & a1y fAaea Y uga= w0
I. W< o1 alan 'Feft-u-fde (‘Tut-i-Hind’) &Y 3uifQ fare aifSfa &2
II. ‘IMTEYOr ‘Ragadarpan’ (Sifta tR YR ST pfe) a1 wRE & srgare fhas 3= fam ar?

Ans X Al SR GER 1. STSE A faetstt
< B. | #R kI 7R |1, TG ieieh
o C.|. 3R g I, FRST qrreeh
25 D. |. thstt 1. HgwTe-fom-gireie

Question ID : 630680176723
Status : Answered
Chosen Option: C

Q.11 YR ERFR A 3 & gaT1s et & t GRfaxa, forwraedt, gorw, gae 1k R a9 & fog g
T It arg @< A { National Air Sports Policy (NASP)} a1 #&ieT aaR frar um?

Ans o A 2022
X B.2018
< C.2019
2 D. 2021

Question ID : 630680176720
Status : Not Answered
Chosen Option : --

Q.12 et et @ifid SiiR Jea & vaR-uuR & Qg @Rl @A arer i@ wRedy tiud agiferea
Tisd (Akhil Bharatiya Gandharva Mahavidyalaya Mandal) srgi fea &2

Ans o A TS
/< B. 7S faeeft
Z< C. ofrure

5 D. d@TH

Question ID : 630680176727
Status : Answered
Chosen Option : A

Q.13 _____ <hl 3R el A 9971 Yeh dR aTAT aTel I &1 Tg Yeh S T @ St cheAleeh | UTAT STl gl
g &I U Y ThAleeh & Wik TRl ok gl ZR1 Iz forar sar g1

Ans X A arafes
X B
25 C.dom
o D. 7

Question ID : 630680176729
Status : Answered
Chosen Option : B




Q.14 FAfea Tfla d oA ahem & fog, Aed vt d gAh! o 9T 2g’l & Aeadh
(UNESCO Creative Cities Network) & 2mfarer foram mar ami

Ans o A 2017
< B.2018
< C.2016
X D.2014

Question ID : 630680176728
Status : Not Answered
Chosen Option : --

Q.15 afYeh yE=_t Gaahiah 2022 {Global Hunger Index (GHI)} & Hee & fA=ifaf@d & & «=-a/d3
FUT TS /8?7
1. &fYe yEm Gerenies {Global Hunger Index (GHI)} 2022 & AR, YR 7 T (Forrert aref
g hiE I A1g)) 9 9 (Yo sredd Fiarerie fRAf) & 9™ o= 39.1 WAk v R
1. GHI 2022 TR Y o1 &z & forg gafea et aret 121 22t § T WRA 1009 @< WwR &1
lIl. GHI RT¥é 2022 3 WRa &t ‘TR Soft F w@r 21

Ans X A had | el
72X B.dhad |
o C.&ad Il
< D. dhaat Il SR I

Question ID : 630680176719
Status : Not Answered
Chosen Option : --

Q.16 fA=fafad & @ SiF-T1 U ATAeTs Hrdvarg- iR aes Juf uee= uomed (Waqgf

Properties Management System) &?
Ans X A WBMS

7< B. WARSI
< C. WPMS
& D. WAMSI

Question ID : 630680176718
Status : Not Answered
Chosen Option : --

Q.17 gy el & @ o @ 52 gafea &7
1. I St g& - 1925
I1. TR STeTTE gfer gevs § AR 1Y - 1929
Il +r1a ¥, ST, @ea ol widdt - 1931

Ans X A LIS
X B.dhaet | 3R I
o C.&adt | sl
< D. dhaat Il 3R I

Question ID : 630680176725
Status : Answered
Chosen Option : A




Q.18 2T figwart wifla & ufea fasey AR™@or wra@ (Pandit Vishnu Narayan Bhatkhande) &Y
TR yomeht & ddy d Rafaf@ad § @ a9 @ Fua a@ &2
I. e WR (Komal Svara) @t @R & 14 &fast ¥an grr e2rfar sman @
II. <fter TR (Tivra Svara) &l AeA® & HWR #d IET ZRT E2ATIT ST 8
IIl. %ig Iwieh (Mandra Saptak) @t @RI & SR fig gRT @21far s &
IV. 9R ¥tk (Tara Saptak) @ @RI & = foig grT g21far strar @

Ans X A Faal, Il Rl
X B. & | 3R IV
X C.Faa, R IV
o D.Faa | SRl

Question ID : 630680176730
Status : Not Answered
Chosen Option : --

Q.19 T sfiertg /g (Chembeti Sridharalu Naidu) ____ & S&9 @i At 21
Ans o A dc TS

< B. TRHET Hecot

25 C. urefr TS

< D. GT ArerSii+es 9T

Question ID : 630680176724
Status : Not Answered
Chosen Option : --

Q.20 12 fedaR 2022 deh, 3990 @ hiF I g Shufal d Q ges 781 &, [ wrRdg Red 96 {Reserve
Bank of India (RBI)} ZRT @11 @fiitex {Account Aggregator (AA)} & ¥4 & GsfieheuT hl
THTOTYS TS foRaT T Aur?

Ans X A. &G BISATRT SThIHRM 9fdast ursae faffiés (Cams Financial Information Services
Private Limited)

< B. A fhtoe urgae fafide (YodleeFinsoft Private Limited)
o C. el QU Aicysid uigde fiffide (Global AA Solutions Private Limited)

25 D. A - Iidet faifids (NESL) Tdie 2er faifds (National E-Governance Services
Limited (NESL) Asset Data Limited)

Question ID : 630680176733
Status : Not Answered
Chosen Option : --




Q.21 F=fafEa d 9 o9 a1/d sy T 8/8?
. 3reTehtferes HiHid AT {Short run marginal cost (SMC)} &t Ieare # afRerd=T ht ufa geprd
el NI | URaed= & &0 d ulRaita fvar man g1
II. sitee uRaslf @mTe {average variable cost (AVC)} @t Ieare=T i ufer gerrs et ufRaedt amra &
= § gRenfia forar mar 21
1ll. 3reTehTiereh 31t Ha @I {Short run average cost (SAC)} Sit H ZRT ag+ &Y SiTe! &, &t
IaureA Fi ufer gpTs et AT & T A aRaifRa o smar &1
IV. 59 fRAfYa smmal &t RaifSa A & o v W gR1 aga Y o= arelt @ o6t e PR
T {total fixed cost (TFC)} &gl STraT &1

Ans o AL IL ISRV
X B. &haet Il 3R IV
X C.Faetl iRl
< D. &ad IV

Question ID : 630680176732
Status : Not Answered
Chosen Option : --

Q.22 20711 &Y STRIUHET & IR, foh dhg 2nfla wdar & feimrguTa aad sifrs 82
Ans X A Trer 3R R gaett

X B. &g
X C.ga iR
o D. gt

Question ID : 630680176736
Status : Answered
Chosen Option: D

Q.23 fAAfefEa d @ R T ofR sreTaTe A sHast 2023 #, Al & A1 srguaiT ik Ty dar
menfh  ureaRe faa & o =t A agahft srgeiu™ & fAg g gweita ur geaner frar?
Ans X A. IR Uienfiehl G (11T) afe 3R srdiert erearet (The Indian Institute of Technology
(IIT) Bombay and Apollo Hospitals)
2< B. YR Senfieh! G (11T) geviee 3R shifehetia €S i sr/egdret (The Indian
Institute of Technology (IIT) Hyderanad and Kokilaben Dhirubhai Ambani Hospital)

< C. 9 deifireht T (1IT) Tamerdt oik wiféd giffied (The Indian Institute of
Technology (IIT) Guwahati and Fortis Hospital)

o D. IR Wefiveh! W= (IIT) ShHYR R srdtel sreudre (The Indian Institute of
Technology (IIT) Kanpur and Apollo Hospitals)

Question ID : 630680176716
Status : Not Answered
Chosen Option : --

Q.24 RA & d@faur & fhw v # wgufa & w0 7 goma & fog giaarsit o Iwra forar mar g?
Ans X A 4Tl

25 B. VI
& C. oMV
5 D. \ VI

Question ID : 630680176739
Status : Answered
Chosen Option: C




Q.25 sitfiges d 3iteh et (Oriental Bank of Commerce) 31k grTges da it 34T (United
Bank of India) @1 faera o foram mam ami

Ans X A. Tgd da Sifth 23T (Central Bank of India)
75 B. f3a affazeet §a (Indian Overseas Bank)
X C. S 3ifts 91gieT (Bank of Baroda)
o D. USTE A3 dak (Punjab National Bank)

Question ID : 630680176731
Status : Answered
Chosen Option : A

Section : General Intelligence

Q.1 & 7E Tz, udie sjae o1 @ o ok Ru g ust s &)
(F¥) @564%*5¥29@2#4$5@2&51&5#164 (M)
Ot forat =Ty & fiieh Sieh a1g # ek T @ 3R Sieh Uget Qeh Udian off &2

Ans X A1
o B.4
X C.3
X D.2

Question ID : 630680176747
Status : Answered
Chosen Option: C

Q.2 39 e 1 9o o3 STt Uidd S1aR-9Hg € I TR Hafdd & d uehR govT sigr-a9g uget
31ER-THE § S FAT S18R- g IR sieR-9ag @ Hafda &1
SUN:TWQ: TUE:UWH: FRI:?

Ans X A GSM

X B.GSL
X C.GTM
& D.GTL

Question ID : 630680176755
Status : Answered
Chosen Option: D




Q3 @ e &, FEmEHSEE F vF wEg WA & afe sk adt F e sert F sEe w1
Feeg T o § sﬁﬁwmmgﬂxﬁmmﬁmﬁmmé‘\

TE / wdw |5 |4 (& [3|# |+ |7 |+ |%|6
HER FE M|la|B|G|E|T|[s|L|O|A

o
(i) ofE 9@ 97 v W ¢ AR HTEH, v HEwn §, A 57 g (vger M sifw A & g w+r
HTH F TS Tl

(TR T aT o R rem it sftA e oo g, S e s o s F w A
Heag B ==

Tema # & si7 7 &4#7 F Rw FE g
Ans X A $QEL$
< B.SMTLB

& C.SQELB
7< D.BQELS

Question ID : 630680176750
Status : Not Answered
Chosen Option : --

Q.4 Z,X,C,V,B,N 3R M# & e &l GHaR & F g1 aret 3R AAaR il 91 g+ aret s+t
TUATE & HeT-31e1T &1 fUerfAe A @121 FaeT B I N 9 ugat MerRar A g IM A C &
ek a1 fUerf=en @ g1 8, AfehT arR Y 7| Shae X &t Z 3R N & = ferfRer & g @i
faR ot e & fohaen! g 82

Ans X A.C
o« B.M
X C.V
X D.X

Question ID : 630680176741
Status : Answered
Chosen Option: D

Q.5 S1&Rl & IH HAISH T I9 & il &1 7T SjEaeT & < VA | shfAd U @ W@ M W st
I QRT R
A_SDAW_DAWS__WSD

Ans X A WSAD

< B. AWSD
«" C. WSDA
< D.WDSA

Question ID : 630680176745
Status : Answered
Chosen Option: C




Q.6 Tig gl M, N, 0, P 31k Q & Teh aig d Tarch! waltd S1eiT-31enT g1 &g & N Y dad 9ot e
21Q, 0TI M, PAaT gl 0, M A ar g1 379 & fie=r 9a@ it h= 87

Ans X A.Q
X B.P
& C.M
X DO

Question ID : 630680176744
Status : Answered
Chosen Option: C

Q.7 Ry et d & 39 H@eEan o1 9u= & st i@ siger d usaras Rg (?) &t ufawnfta
& Gehell &1
55, 60, 70, 90, 130, ?

Ans X A 220
X B.215
 C.205
& D.210

Question ID : 630680176763
Status : Answered
Chosen Option: D




Q.8 Ru v Rewedt & & 30 3pla F TTF FL A AT & TE g@er F g Fea (7) = swwRa
T T B

& @?

Ans

Question ID : 630680176761
Status : Answered
Chosen Option: C

Q.9 TwAT 5473591688234 H U 3ich ohl A4 | FTT Fad shH | AafA fohaT T §1 g S &t
o § fohaA sichl Y R srafafda w@ift?

Ans X A2
X B.O
o C.1
& D.3

Question ID : 630680176764
Status : Not Answered
Chosen Option : --




Q.10 ¥R 31eR-uqg Ry mg &, i @ i fareft werR @ ger aur & 3R Gar SR &1 SHeRT Ta
St 3T @1
Ans X A RSQT
X B. VWUX
« C.BCAE

7< D. GHFI

Question ID : 630680176757
Status : Answered
Chosen Option: C

Q11 Rr aw 3@ &1 ea=gaes 3eaa Hi HRT F97 F 3ot & SOF-3EET F9 F HEATC UE H 3 g
#r FE gafeh § S s e o= S E

o &1 aEe
asﬁ'ﬂﬁ“
A%
CF
FI3
& foet gEe § S A1 O F9 HUS W Hae soeiead auge e ST 82
Ans X A.100
< B.91

o C. 197
2 D.19

Question ID : 630680176743
Status : Answered
Chosen Option: C




Q12 g gdor F a1 R T A E, A A G F qA aT T g90r fF Foam_ F

Ans

@] o 7

X B.

L | |

| | e

2 D. G

[

Question ID : 630680176762

Status : Answered

Chosen Option: C




Q.13 21 “SUPPORT" (3mf 3R i, i RRemaif #) # areri & 0@ fort g & s i saa &

Ans

31eR ¢ S st aufaren a A &2
X A6
X B.7
& C.5
X D.4

Question ID : 630680176749
Status : Answered
Chosen Option: D

Q.14 P,Q,R,S, T, U 3R V # & ek ol TIHaR & = g aret 3R AAarR ol ware g aret st
TUATE & -3l &1 Yeh GHRIg A A g1 21 S &1 Q, P a1 R & ug fohelt ues o amRig
# enflet g 81 V ) ARarR ot garie & anfde @191 @1 daet U &t P ok R & g gaeig &
oA g 1 T bt P @ $ies gl IWRIg # 2anfie g1 81 Q &l WiTeiaR ot g9rRig & anfae gr

&1 AR ol T9ARIE | fore enfae giar 82

Ans X AU

XB.T

& C.P

X D.R

Question ID : 630680176742
Status : Not Answered
Chosen Option : --

Q.15 afy

Ans

'A @ B' @1 31k g fR'A, B ot &,

'A% B' &1 31f & R 'A, BRI Ai g,

‘A#B wrafafh'A BRiagae,

'ArB' a1 31f @ fh ‘A, B & e & s &,
A=BwmahgfhB AFTRE,

'A&B @T3f g fR'A BRI Aihraig,

at g 71g =ivtes | K, J 9 fohe wu d defaa g2
KN#H@G=J

KAw
< B.wg
X c.ufa
o D. g

Question ID : 630680176754
Status : Answered
Chosen Option: D




Q.16 =w womr &, TEAiiTds & & T F A= & 7 afeer AR odt F sE snnt F s
FEag T T § aﬁﬁwmmgﬁwaﬁmamm%x

v v | (5| @]9 [%|2|#[% |8
I FT Q|Z|C |F|D|N|R|E|M|A

o
(i) o vger oo v vl ¥ i sifw, o @ g o = aEt (dee At aifaw o) & aet
g & s g

(i) ol Eer aeg v Rum dem ¢ v sifem, cr or e &, S e v sfam aEt A S F ww A
Feag fHar = &

Teafea & & sl T '55%92' % [w FT g
Ans X A RMNFZ
«" B. $MNF$
2 C.ZMNFR

7< D.RFNMZ

Question ID : 630680176751
Status : Not Answered
Chosen Option : --

Q.17 2r5g “PRACTICAL” (311t 3R !, qi1 fyamsii #) # orarl & ¢ fhast g & s fia s &t
3R g fa= sidsh aufarer e d &7

Ans X A3
o B.2
X cC.o
X D.1

Question ID : 630680176748
Status : Answered
Chosen Option: B

Q.18 ¥R 31eR-uyg Ry mg & = | ofi= foneh vk @ ues T1= & iR Ueh ST &1 IR TT Y
St STE 81
Ans 2 A.GIMN
X B. YAEF
< C.RTXY

o D. VXBA

Question ID : 630680176756
Status : Answered
Chosen Option: D




Q.19 &} 7 T, uehieh sjer o1 deof o ofik Ry g st 1 IR 1
@MW) #351@27@38&"$5@84%51$6@ 1% & (39)
@ fraat udier & (a4 @ 219) formds e are & ves g9 T @ 3k Sk ugs gen faw T @2

Ans X A4
X B.2
X C.1
o D.3

Question ID : 630680176746
Status : Answered
Chosen Option: D

Q.20 ¥R 31eR-ugg Ry 1y &, d @ i et werr @ ger aur & 3R Qe 3R @1 SHeRT T
St 3T 81
Ans X A.BDEG
< B.VXYA
& C.TVWZ

2< D.NPQS

Question ID : 630680176759
Status : Answered
Chosen Option: C




Q.21 RE wiv Reredt & & 3@ HHl &1 9T F S A & T g@en H weAITH e (7) F Arewmg
T T B

Ans

Question ID : 630680176760

Status : Answered

Chosen Option: D

Q.22 A, B, C,D,E,F G 3R H geh uRar & 3116 9= &1 H, C &1 9T &1 A, C &Y ueil 81 C, G &1 gMIE
81D, Eh g1 81 G, B &1 g7 81 E, G il uwit g1 B, F il u=fl &1 E, B ¥ foh w0 A Haifda g2

Ans X A g R gt
« B.9g
X Cc.oht
#< D. ufy &t s

Question ID : 630680176753

Status : Answered

Chosen Option: B




Q.23 fieerel o= wR & agR Rehett ok 75 m gd it ok 9«1 ag @] gt 8k 28 m =« a8 v &
¢ q3T 3R §eie &hth deh UgdH & I 120 m =l fewe] & €= @ sevte &6 Rha R (T
w1 gft) ofiz fore fRam # &2

Ans X A. 48 m, SWR-ufgm
< B.53m,IW-gd
& C.53 m, IaR-ufzm
< D. 48 m, IR-gd

Question ID : 630680176752
Status : Answered
Chosen Option: C

Q.24 4R eR-aqg Ry mg &, d @ i et werr @ Ger aur & 3R Gan SR @1 SHeRT T
St 3T 81
Ans X A.ZABY
< B.DWFU
o C.NMPL

2< D.HSJQ

Question ID : 630680176758
Status : Answered
Chosen Option: C

Q.25 3meEnerR A, S, D, F, G 3R H a1t &g M, 5=t 71 & o @ 5<ft ohw g, uap et AW & uRar: AW
& g i o1 If AT Eiore SR U TR 9 I g R A3 &1 hawt G, F 3R S h fim 181 G,
S & &k 914 93T 21 D, A 3R H & &k fia & a1 81 S, H & St a1¢ A8T1 &1 A & &Yeh &1 il
o1 ?

Ans X A.D
& B.F
xc.s
X D.H

Question ID : 630680176740
Status : Answered
Chosen Option: B

Section : Quantitative Aptitude

Q1 o o i 575 40 em #1 IR OF F IR F FAK vH FAAS § 50 AV W T OIT A Fer
m%,ﬁ%ﬁ?aig:a:rm,a?aig:é:m?i BT ¥l e (frustum) $r =8 fraer 27
Ans X A.15
o B.30
X C.5
X D.10

Question ID : 630680176788
Status : Answered
Chosen Option: B




Q.2 ufg ayf ugs, @R Fi 1Y, ITHh g Y Y & IR A A IR af 3ifdes f1 i af g, @R« Hi
31y, I6h A i g & i 77 d o adf w0 gt s/ @ foreaw o arg 3+7eht igh emyg 50 adf

Ans X A.10
X B.6
Xcs8
& D.3

Question ID : 630680176787
Status : Answered
Chosen Option: C

Q.3 U 9UTR H Fe fenfial &t derar s &1 519 8, 9, 11, iR 12 Y dfvral & de1g ot &, at
o & g 3 it gdan =1 Sia €1 Afeh 51 32 15 uf*h & o/ S @, at 9o & g ais
oft faremeff =gl a=ran &1 af fenffal $r dw=ar 1,000 @ aifdes oft, @ GurmR A Renfyal &

gAaH =T A4 i
Ans X A.4185
X B.3225
o C.4755
2 D.3660

Question ID : 630680176766
Status : Answered
Chosen Option : B

Q.4 Ieii2r A A4St &t 700 m i & & 40 m Y Tad €4 Feftr 9 km/h Fi =rer @ Etgan g1 afy Fedftar,
TIST 40 Tehs & g1 &1 8, at Fefter R 7t Y a1l w1 srgure w1 hifSig, af 31

&t awa # g e
Ans o A 40:33
< B.35:27
X C.17:14
2 D.51:46

Question ID : 630680176780
Status : Answered
Chosen Option: B




Q.5 e Tfee v BT SEEE F a== F 9o ST g2t ¥ 10 kg 3R 40 kg F &= 5= T
=i & TEE T FiET
=1 (kg) Tl Fr TE

10 Ir =ET | 24
20 W =T |18
30 W =M |14
40 W =wRT |6
50 =1 =aEr

Ans X A 56
X B.44
& C.18
& D.6

Question ID : 630680176784
Status : Answered
Chosen Option: A

Q.6 A 25 wfie STet 3R g9 1:4 & Irgurd & AT S Heher g1 Af 2101 a1 3 whiex @l = o
STt @ 3R 2 sfex gur A R sirar g ofik 3wt ufthan &Y g TR oiik favar w1 @, &t gu sk
ST opT Sifer STguTe T ghm?

Ans X A 54:275
X B.72:185
X C.49:11
& D.383:77

Question ID : 630680176769
Status : Answered
Chosen Option : B

Q.7 @} 3ichl il Yeh T&AT 3R ekl el AT F F&cTeh? UTCT T&AT h i a1 3ieR 54 & 3R 3iehl ahr
i 10 g1 &t €t 3ienl R ST T=reit a1 oftHd T AR

Ans o A 55
2 B.59
X C.48
X D.44

Question ID : 630680176767
Status : Answered
Chosen Option : A




Q8 AT vw Fd & 320 Rm H FT wHr 1 &, RS B goew F 30% e FEigw ¥ Aty ¥
e Rt (@A ¥ & a v F e € e yen da & @ &, & & Reant Rt

#; FE W FE?
Ans

1
XA 23=
2
3
X B 25—
10
«czsg
%713

2
X0 272
3

Question ID : 630680176782
Status : Answered
Chosen Option: B

xc . =%

X D.. 2%

Question ID : 630680176765
Status : Answered
Chosen Option: B

Q.10 v =afFT x km/h 1 TTEr T TE TEHT eer AR de ST § 3T ST =T @ 25% FEET

el o it &1 arr % S dtwd =1 932 kmvh @1 e AT S 82

Ans X A 196
X< B.1848
2 C.193.5
& D. 189

Question ID : 630680176779
Status : Answered
Chosen Option : A




Q.11 x, y & aif & sgerargure &1 f&ar mar & fk 1« x=2, &t y=3 &1 57 y=4 g}, at x &1 a4 714 &1}
Ans

wA:t1
°8

_ 5
KB 2_
8

xc 3
4

i
XD 1=
3

Question ID : 630680176775
Status : Answered
Chosen Option : B

Q12 G=fafem g 3w & Toe § R $F FE 3R 3R 61 F AR 39 a9 g d
30-40 317y == @ et 71 sftEe aow 7@ AT (PFeaw P a5 i)

freTeht I wEaT

®2530 =3035 =3540 w4045 w4550 m 2530 ®30-35 =3540 =4045 m4550
Ans X A 236,667
7 B.336/454
« C.335333
< D.335887

Question ID : 630680176785
Status : Answered
Chosen Option: B

QI3 A Baivc 2: 2 2 & agma & o iR @l W F F v o wer w #13 we

3

WE, A I S F - ST SRR T A ¥ A B N G AT - e ST e we d1 10 W
F 3T & ¥ 2 52,260 = T TET = LI Baar%'&m(zﬁ")mﬂé‘l

Ans o A 21,708
X B.24,166
< C.22,110
< D. 23,436

Question ID : 630680176776
Status : Answered
Chosen Option: B




Q.14 &} UTSU Qeh &Y aht shAeT: 24 3R 30 fA-Tel # R Tahat &, 31k &l & ae R His[g o fBa 38 4
fier ufer e 6t 32 @ @rell R GepdT &1 11 UTST Ueh 919 & &hd & iR dehl apt 20 Ase &
R A g1 i1 | Eht Y ermar mira hifSig)

Ans X A.120
X B.140
& C. 160

< D.180

Question ID : 630680176783
Status : Answered
Chosen Option: B

Q.15 Weh =afwh 180 km hY T R & 48 km/h, 1700 km Y ar= gar Sigrst @ 680 km/h 311 300
km & amT 29 @ x km/h 6 a1 & a7 e 1 af ot g A it are 218 km/h &, @t x &
A A1 R

Ans X A.85

o B.80
% C.100

2 D.9%

Question ID : 630680176768
Status : Answered
Chosen Option: C

Q.16 et e==ifaY uR 12% anffer ht &= @ 3 aef &1 TR =gTS1 317,514 gt &1 €t adf & sia &
fRsrer () w1a &R

Ans X A 48,650
7< B.36,487.50
X C.42,382.50
« D. 60,326

Question ID : 630680176777
Status : Answered
Chosen Option: D




Q.1

4 58in@ — 3cosB

g ar A ST

7
g cotld =

3 5s5inB + 3cos6
Ans
xa
3
xs 2
3
xc 2
4
1
D —
9

Question ID : 630680176789
Status : Answered
Chosen Option: B

Q.18 A, B &l Teh AUCIT 15% o T UR a=dT &, B 3¢ &iueia aht C ) 20% & T R =T & 3fiR C
I8 D & 5% Y g1 R =an &1 af A siiR D & sfrar sifSfa et 71197 21,492.80 g, &t € i mra
(% #) I HR

Ans X A 7,234
2 B. 6,955
2 C. 5520
o D. 6,624

Question ID : 630680176773
Status : Answered
Chosen Option: B

Q.19 S+t 3 gar =1l 92 W ha gea & 20% sifde go sifeha foran siiz Sifdent &t d=a w5131 10%
Y ge &1 YT A 39 R 25% 31fdh Geu sifoha far iR x% Fit ge & ok Iq 1A &t d=a
AT 15% (¥25,650) a1 w1 ffSia famari x% A &1

Ans o A8
X B.7
K C5
X D.6

Question ID : 630680176774
Status : Answered
Chosen Option: D




Q.20 1.1.22 @t A T a4 ¥1,52,400 ufe AT &1 A< & 59 8% F i g€, orra d 5% i &+t g€ oik
TR 7 R @ 10% &t g g1 e aeema & are 391 aa+ (% #) @ g (Repeaw guifa
e quiffRd)

Ans X A 173,205
« B.1,71,998
X C.172432
< D.1,74,061

Question ID : 630680176770
Status : Answered
Chosen Option : A

Q21 frmsr il speraT (2 ﬁ)#leg% ST Tgfe =aTs X 3 Tut F &7 215,240 3 HOT F A=
g

Ans " A 6,860
< B.7,620
X C.6,450
X D.7,230

Question ID : 630680176778
Status : Answered
Chosen Option: B

Q.22 X Qe o1l ot 12 &7 & QR oz HehelT @1'Y, X &Y AT & 20% H shrdpared g1 afg 3 5 e 3 farg
Teh 91 & et @ SR X i Y8 ST 8, at shref aht foha=r W S1eRT 38 T 82

Ans
xal
3
XBL
3
xc L
5
1
o D..—
4+

Question ID : 630680176781
Status : Answered
Chosen Option : A

Q.23 3} Iwfigari & T ek gATa #, 3% 7 37U+ T g1 BT 3R STt 1Y 5% Hal bl A Gifda &R
e a1 farsTeft et @t du wal 1 54% Ared gan i ag 11,058 #at & agHa & faordt gam
I gaerareil i =1 71 w1, fS=gia aa a8 s m

Ans X A 3750
X B.4125
X C. 5050
& D. 4500

Question ID : 630680176772
Status : Answered
Chosen Option: B




Q.24 <] U 3T & 15% <Y = T &1 ITF da | 18% M i g3 oft, swforg 397 srueft s=ra
# 20% Fi gfg o= &1 al aa=1 & gfY & are ST =@ 21,32,500 1, 7 da+1 7 gy @ ugat
IR T (T H) 719 R

Ans o A 19875
< B. 26,500
7 C.33,125
2< D. 23,850

Question ID : 630680176771
Status : Answered
Chosen Option: B

Q25 Ffr a+b+c=6,(a2+b*+c?) =14 aﬁ'{i+% +§ =% g, ar abc wa Ff3T)
Ans X A 11

X B.1

& C.6

X D.12

Question ID : 630680176786
Status : Answered
Chosen Option: C






